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General Instructions :

(iY  First 15 minutes are allotted for the candidates to read the question paper.
(11) Al questions are compuisory
Husirate your answers with labelled diagrams wherever necessary.

(111)

(iv) Marks allotted Lo each question are mentioned against it
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( Muitiple Cheice Ty pe Questions)

Choeose the correct aption and wiile (i yvour answer hook -
' 1

2l Which one is found in potlen griun 7

iAy Two male gametes

BY O Twa segetative cells and ope generatrve celi

(U Ome generathve vell and one wibe cell

(DY One wihe celi and one male gamete

My Number of poten sacs s anaiither s K
i Ay Foar
B Tao
(0 (One
(D Figh
(i Hew many meiotic divisions sre required to get 200 grains of Barley ? 1
cA 200
(Br o HID
(Cy 250
Iy 50

(dy Congenital metabolic disorder is
(A) Phenylketonuria

(B) Colour blindness

(C) Haemophilia

.(D-) ) Ana‘:mia




el

'ad

(Fafean 3erfts w¥A)
(Definite Answer Type Ques:imﬂ)

Tt sy e w7 0 A

gy A ST H fE8 IHT Fewh U AR ?

i 1 OF JrEnEA fa gane

,gﬂ' T

g, T @ Y BE H e

(g}

‘= fafaaar v B RLE

cay o Mention e NEme Cf Causal orgarism of Typhuid fever
(b} Whaiiype of nucleus 1< found 11 bactertaf vell ?

co3 D a labelled didgram of o suceulent fruin

rd)  Deseribe m briei anout ads antages of crovs-pothnation.

fep What i bio-diversity notspot 7

(T =1y -3l )

(Very Short Answer Type Questions)
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{(a) Pollen grains get their nourishment from which part of anther 9

(b) Comment upon amniocentesis.

(¢} Differentiate between true fruil and false fruit,

(d) Detine Apomixis.

-~ (e) What do you mean by Polyembryony ?
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4 (ay  Draw a labelied diagram of @ human sperm :

(b) raw « Jaboitar! diggraim of o iransverse seciion of 2 mature anther 3

(o) What do you mean B bee-keeping 7 Dxplain it in vriel. :

(dy  Write short note 9 Farmily Planning. :
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(a) ﬁmﬁﬁmﬁwéwéiwmﬁﬁﬁmﬁmmqi .

Give an account on DNA fingerprinting.

(b)  Who 18 father of Green Revolution in India 7 Green Revolution is useful for

farmers. Explain it with example. 5
(¢) What doyoumean by restriction enzymes 7 Explain with example. .
(d) Hydrophytic plants or¢ adapted to their environment. Faplain it with the help of

examples and diagrams. _ | S §
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Name the important components of bio-diversity and mention suitable measures

for its conservation. 2

Write short nole on 1+ 1%
{1} Genetical discrder in man

(1) Central dogma
What is bio-fertilizer ? Describe its role in the production of foed. 142

Write short note on any two 1% 4 17
(i) Reddaia book
(i) Parasitism

(ii) Role of leguminous plants in increasing the fertility of soil
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gasp 1y 3 formatton of
What s Mepasporogenesis 7 Deserhe the development of zypole upto 1o
&

mature ovule woan Angiosperic flower.
OR

Draw o dabelied diasram of reproductive system of a woman,
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L Write shott note o any (wo

(1) Double ferpbzation
(i) Rewdee treatment
(ny Control of Poesmonia
OR
Differentiate between the folfowing fruits |
(11 Legume and Lomentum

(i) Drupe and Schizocarpic frun
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Write short note on

(1) Fertilization in human

(ii)  Active and Passive Immunity
OR

Write an essay on Genetic code.
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